
8.EE The Sign of Solutions

Task

Without solving them, say whether these equations have a positive solution, a negative
solution, a zero solution, or no solution.

a. 

b. 

c. 

d. 

e. 
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3x = 5

5z + 7 = 3

7 − 5w = 3

4a = 9a

y = y + 1

1

Illustrative 
Mathematics

http://creativecommons.org/licenses/by-nc-sa/4.0/
https://www.illustrativemathematics.org/content-standards/tasks/550
https://www.illustrativemathematics.org/
http://creativecommons.org/licenses/by-nc-sa/4.0/deed.en_US

	8.EE The Sign of Solutions
	Task


